NEANERESE - BRHARR

KERIFEITARBRED
= £ i i A B = £ #h i A B

FILIN=TF 1 |FL¥R 1
FILEUFY 1Vt TNY 1
F—RS)T 52 | L—T7F 25
F—RR)T 2 | AFTO 4
N)LF¥— 4 |1E> )L 21
Too)L 21 | E—) v X 2
SyYN— 17 |~— vl 1
INJLINKER 1|7 F=7 B2 —3X5ET7HNE 2
NGS5 Toa 22 |&/8—JL 157
TILARA 1|54 2
hoROT 8= —>P—5 K 12
hANL—Y 1|1 F14>z)7 1
h+4 51 |/ )LD zxz— 2
AYZoh 8 I\ XAy 10
F) 2 V5574 1
& 1,070 [R)L— 1
BE 180 |74 U EY 92
aRYET7 8| R—3F 6
aARBYH LR bHL 3
Fa—n v—=<=7 3
F O 51los7 16
TY—7 S |lyws7sET 3
IR +=7 1 | 2RqY 9
25 2R 61 | xvz—F> 8
FA 21 x4 % 3
H—F 31y 1
INUHY)— 3o vuHF— 14
S 48 |5 ¢ 38
AT 31 [~ 7
15> 10 |7 7 h#EHE 2
TALSUR N S 1
ARSI 1N EE| 82
A1 32)7 21 IkE 301
YA A 1| 9ARxZ52Y 10
E W1 1 |RNb+FL 119
BE - BAf SIS 4T A 1
APE Sl 1| 7ILAZT 1
=7 3

% po 3,225




